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INSTRUKCE 

 
Test obsahuje 25 otázek s alternativami odpovědí (A), (B), (C), (D), z nichž je jediná správná. 
Svou odpověď zapište odpovídajícím písmenem do příslušného rámečku vpravo. Chcete-li 
odpověď změnit, požádejte člena komise o parafování změny. Správná odpověď se hodnotí 
jedním bodem, žádná nebo nesprávná odpověď žádným bodem, tj. maximální počet 
dosažitelných bodů je 25. Na provedení testu máte 20 minut. Při testu nelze používat žádné 
pomůcky ani elektronická média. Lze používat pouze psací potřeby.  
 
 
Choose the best option. 
 
 
1. Which two words sound the same?  

D 
 (A) known, noun (B) noun, none (C) none, known (D) nun, none  
 
2. I watched most of the film but not ............. .  

C 
 (A) all it (B) some of it  (C) all of it (D) none of it  
 
3. The police blamed George .......... the accident.  

B 
 (A) on (B) for (C) from (D) of  
 
4. Lucy lived there until this spring, but she ........... there since.  

C 
 (A) doesn’t live (B) wasn’t living (C) hasn’t lived (D) hadn’t lived  
 
5. Wear the sunglasses. That always looks .................. .  

A 
 (A) fashionable (B) fashionably (C) fashion (D) nicely  
 
6. What exactly does your job …….?  

D 
 (A) deal with (B) handle (C) conclude (D) involve  
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7. It was windy at midnight and somebody shut the window.  

B 
 Who ........ the window at midnight?  
 (A) did shut (B) shut (C) shuts (D) does shut   
 
8. My wife made me ............all the washing up.  

C 
 (A) doing (B) to do (C) do (D) done  
 
9. Here is the list of ………… invoices. None of them has been paid yet.  

A 
 (A) outstanding (B) expectant  (C) await (D) expecting  
 
10. Do you mind if I look at your paper? - ..................................... .   
 (A) Yes, please. (C) Of course, I mind.    

D 
 (B) I’m sorry, it’s not free.   (D) Well, I’m reading it myself, actually.  
 
11. We heard the news about the earthquake .............. the radio.  

C 
 (A) in (B) at (C) on (D) from  
 
12. I ................. all day yesterday, so I was very hungry when I got home.  

B 
 (A) didn’t eat   (B) hadn’t eaten  (C) wasn’t eating (D) hasn’t eaten   
 
13. I .......... a lot of money by Daniel.   
 (A) ’m owed  (C) am owing  

A 
 (B) owe (D) am being owed  
 
14. 11 People whose skills are ................ are considered unemployable.  

C 
 (A) up-to-date (B) updated (C) outdated (D) outgrown  
 
15.  Sandra misses ............. to their meetings and discussions.  

B 
 (A) inviting (B) being invited (C) be invited (D) to be inviting  
 
16. Priscilla locked the door so that she .......... be disturbed.  

D 
 (A) would (B) can’t (C) might (D) wouldn’t  
 
17.  Whether she’s  a good actress or not is a ..........  of opinion.  

B 
 (A) subject (B) matter (C) point (D) case  
 
18. Could you tell me how much ............. ?  

D 
 (A) did this cost (B) costs this (C) does this cost (D) this costs  
 
19. I have just ............. an account in this bank.  

C 
 (A) entered (B) made (C) opened (D) registered  
 
20. I’d babysit for you if I ............ a meeting.  

B 
 (A) don’t have (B) didn’t have (C) haven’t got (D) wouldn’t have  
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21. Pete ........ out. The door’s locked.  

C 
 (A) must gone (B) must went (C) must have gone (D) have to go  
 
22. I wonder if the value of the pound ............ next month.  

A 
 (A) will fall (B) falls (C) would fall (D) is falling  
 
23. You shouldn’t............................. . It’s not enough.   
 (A) put with a low salary up (C) put it with a low salary up  

D 
 (B) put it up a low salary (D) put up with a low salary  
 
24. Which word would you not use to describe a jewel?  

B 
 (A) precious (B) adored (C) costly (D) expensive  
 
25. Obedience is to disobedience as patience is to ......... .  

C 
 (A) dispatience (B) inpatience   (C) impatience (D) unpatience  
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INSTRUKCE 

 
Test obsahuje 25 otázek s alternativami odpovědí (A), (B), (C), (D), z nichž je jediná správná. 
Svou odpověď zapište odpovídajícím písmenem do příslušného rámečku vpravo. Chcete-li 
odpověď změnit, požádejte člena komise o parafování změny. Správná odpověď se hodnotí 
jedním bodem, žádná nebo nesprávná odpověď žádným bodem, tj. maximální počet 
dosažitelných bodů je 25. Na provedení testu máte 20 minut. Při testu nelze používat žádné 
pomůcky ani elektronická média. Lze používat pouze psací potřeby.  
 
Choose the best option. 
 
 
1. Which two words sound the same?  

C 
 (A) raise, race (B) rise, rice (C) raise, rays (D) rays, rice  
 
2. If ........... phones, tell them I’m in the bath.  

A 
 (A) anyone (B) some one (C) every (D) no one  
 
3. As I had missed the history lesson, my friend went ...................... the homework    

C 
 with me.  
 (A) by (B) after (C) over (D) on   
 
4. Ever since I was a child I ........... to go to Zanzibar.  

D 
 (A) wanted (B) had wanted (C) want (D) ’ve wanted  
 
5.  Does this hat look ..............?  

B 
 (A) strangely (B) strange (C) beautifully (D) stranger  
 
6. In our company I .......... projects and make sure that the money is well spent.  

C 
 (A) in charge of (B) responsible for (C) oversee (D) respond  
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7. Four teams played ice-hockey last week. Which team ........ the championship?  

D 
 (A) win (B) does win (C) did win (D) won  
 
8. Don’t make me .............!  

A 
 (A) laugh (B) laughing (C) to laugh (D) laughed  
 
9.   They decided to take out  ............ to cover the unexpected expense.  

C 
 (A) a payment (B) an account  (C) a loan  (D) a debt      
 
10. How are you doing? - .......................... .   
 (A) Fine, thanks. I’ve nearly finished. (C) Yes, of course.  

A 
 (B) I’m afraid not. (D) I’m painting the garage door.  
 
11. Her results in the test were .......... average.   

B 
 (A) up to (B) below (C) under (D) underneath  
 
12. Martha ............. a camel before and she was terrified.   
 (A) hasn’t ridden (C) hadn’t ridden  

C 
 (B) didn’t ride (D) hasn’t been ridden  
 
13. “I should have told him” means  ” ……………………”.   
 (A) he should be told   (C) he would have been told  

D 
 (B) he will be told (D) he should have been told  
 
14. They offered us a …………, but we have to place the order this month.  

A 
 (A) discount (B) sale (C) haggle (D) refund  
 
15. I can’t help …………. broken.  

C 
 (A) to feel (B) feel (C) feeling    (D) to be  feeling                                                                                                                              
 
16. The manager gave her his address so that she ............. contact him.   

B 
 (A) can (B) could (C) may (D) should  
 
17. My holiday in Paris gave me a great ........... to improve my French.  

B 
 (A) occasion (B) chance (C) hope (D) possibility  
 
18. Tell me what ………………. .   
 (A) means “expensive” (C) does “expensive “ mean    

D 
 (B) is meaning “expensive” (D) “expensive” means    
 
19. Mr. Royce had to ........... all his savings from the bank to pay for a new car.   

C 
 (A) exchange (B) subtract (C) withdraw (D) cash  
 
20. If he drove his car into the river, ............. to get out?  

A 
 (A) would he be able (B) can he    (C) will he be able (D) is he able  
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21. Patrick is late. – He .................... his train.   
 (A) might missed (C) may have missed  

C 
 (B) may to miss (D) may missed  
 
22. I don’t know if people ......... money in banks for future use.  

B 
 (A) are going save (B) will save (C) would save (D) are saving  
 
23. We can’t ...................... any longer.   
 (A) put this situation up with (C) put up this situation with  

D 
 (B) put with this situation up (D) put up with this situation   
 
24. Which of these is wrong?   
 (A) He blew the trouble up. (C) The house blew up.  

A 
 (B) A storm blew up. (D) He blew up the tyre.  
 
25. Allow is to allowable as permit is to ................... .  

C 
 (A) permission (B) permissive (C) permissible (D) permissable  
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INSTRUKCE 

 
Test obsahuje 25 otázek s alternativami odpovědí (A), (B), (C), (D), z nichž je jediná správná. 
Svou odpověď zapište odpovídajícím písmenem do příslušného rámečku vpravo. Chcete-li 
odpověď změnit, požádejte člena komise o parafování změny. Správná odpověď se hodnotí 
jedním bodem, žádná nebo nesprávná odpověď žádným bodem, tj. maximální počet 
dosažitelných bodů je 25. Na provedení testu máte 20 minut. Při testu nelze používat žádné 
pomůcky ani elektronická média. Lze používat pouze psací potřeby.  
 
 
Choose the best option. 
 
 
1. Which two words sound the same?  

C 
 (A) whale, whole (B) hall, whole (C) whole, hole (D) who’ll, whole  
 
2. This product must be eaten .................... two days of purchase.  

B 
 (A) by (B) within (C) before (D) under  
 
3. .............. of them knew about the plan because it was secret.  

D 
 (A) Some (B) No one (C) Any (D) None  
 
4. Samuel ......... to the shops. He’ll be back soon.  

D 
 (A) ’s been (B) was going (C) had gone (D) ’s gone  
 
5. Paul didn’t look ........... in those tight trousers.  

A 
 (A) comfortable (B) comfortably (C) fashionably (D) careful  
 
6. If we want the product to ………… we will have to invest in promotion.  

B 
 (A) catch in (B) catch on (C) catch off (D) catch up  
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7.  Don’t drink it, it’s very poisonous. - How much poison ............... the death?   

A 
 (A) causes (B) does cause (C) cause (D) did cause  
 
8. She felt something ......... her face in the dark and she screamed.  

C 
 (A) to touch (B) touched (C) touch (D) be touching  
 
9. Their employee has started his own business and now he is their serious ............ .  

B 
 (A) client (B) competitor (C) customer (D) concurrent  
 
10. Can I use your fax? - ....................... .   
 (A) Not at all. (C) Yes, go ahead.  

C 
 (B) Yes, I can borrow it to you. (D) Please.  
 
11. What time does the bus ....... Millbrook?  

B 
 (A) go away to (B) leave for     (C) go away for (D) leave to  
 
12. By the time we arrived, the plane ............... .   
 (A) had taken off (C) had took off  

A 
 (B) has taken off (D) took off  
 
13. I’m sorry it’s so noisy. Our new kitchen ..................... .   
 (A) is been fitted (C) is being fitted  

C 
 (B) is fitting (D) is being fitting  
 
14. The notes taken by an authorized person in a meeting are called ………… .  

D 
 (A) a cover letter (B) an agenda  (C) a memo (D) the minutes  
 
15. I don’t like .......... what I should or shouldn’t do.  

C 
 (A) be told (B) been told (C) being told (D) to be telling  
 
16.  He wore glasses and a false beard so that nobody ........... recognize him.  

A 
 (A) would (B) can (C) may (D) couldn’t  
 
17. I thought there was a ........ of jealousy in his reaction to my good fortune.  

D 
 (A) piece (B) part (C) shadow (D) touch  
 
18.  Can you tell me how............. that?  

B 
 (A) do you know (B) you know (C) did you know (D) know you  
 
19. You can only ...........this postal order at a post office.  

B 
 (A) alter (B) cash (C) exchange (D) pay  
 
20. If you went to see that film you .......... to sleep tonight.  

A 
 (A) wouldn’t be able   (B) couldn’t (C) won’t be able (D) aren’t able  
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21. I ..................... so much food for the party. Nobody was very hungry.   
 (A) needn’t have make (C) needn’t make  

D 
 (B) didn’t need make (D) needn’t have made  
 
22. I don’t know if our company ......... a record profit next year.  

B 
 (A) makes (B) will make (C) is making (D) would make  
 
23. Could you ................. in the telephone directory?   
 (A) look up it number (C) look the number up  

C 
 (B) look up it (D) look it up the number  
 
24. Which of these cannot shoot?   
 (A) pains (C) soldiers  

D 
 (B) footballers (D) elephants  
 
25. Wise is to unwise as visible is to ............. .  

A 
 (A) invisible (B) unvisible (C) imvisible (D) nonvisible  
 


